Gasmate

PHOENIX BBQ AND SIDE
BURNER MODULES
GALAXY GENZ2

Z

g%

27

H Z

B g%

g/

“0

4

| z Z
Z & 2

2 2 Z =,
2 2 Z
\ % \0

Phoenix BBQ Module Phoenix Side Burner Module
Model No. BQ3058GX Model No. BQ3059GX

IMPORTANT: RETAIN THESE INSTRUCTIONS FOR FUTURE USE.

For the most up-to-date version of this manual, please visit the product page at gasmate.com.au,
as updates and improvements may be made periodically.

Gasmate® is a registered trademark of Sitro Group Australia Pty Ltd www.gasmate.com.au
Aber Living, N.Z. www.gasmate.co.nz

04894A 06/25



PHOENIX BBQ MODULE PHOENIX BBQ MODULE

SCREW PACK LIST CASTERS ASSEMBLY
Screw Packs Description Quantity
@»m» M8 x 15 Bolt 16 % M8 x 15 bolts, spring
washers and flat washers
from Screw Pack B1
B1 S 8 Spring Washers 16
=) @8 Flat Washers 16
B2 { M5 x 10 Bolt 70
B3 1»»1»»»)\»‘»»»»»\me»n»mm) M5 x 30 Bolt 5
Parts No. Description Quantity
1 Bottom panel 16
2 Casters without brake 2
3 Casters with brake 2
4 Left panel 1
5 Back panel 1
6 Right panel 1
7 Cylinder holder assembly 1
8 Middle panel 1
9 Top panel 1 — /@
1 helf 1 E = == M5 x 10 bolts from
0 She = E E = = ¥ Screw Pack B2
11 Rear top bar 1 = =
12 Outer heat shield panel 1 -
. / — ...
13 Left heat shield panel 1 T g é = —
14 Right heat shield panel 1 % Z . = =
15 Front heat shield panel 1 | O , ! . .
16 Back heat shield panel 1 ®/ g i !
. 2 2 = =
17 Top left panel 1 Z 2, = ES
2 ;
18 Top right panel 1
19 Front bar 1
20 Front beam 1
21 Left door 1
22 Right door 1

2 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 3



B2

PHOENIX BBQ MODULE

TOP PANEL ASSEMBLY

PHOENIX BBQ MODULE

CYLINDER HOLDER ASSEMBLY

LA w
O my. ./ ‘ o

fr 7 ey
A m owm

TOP REAR BAR AND SHELF ASSEMBLY

W
W

B/ mwy wy )
A Y /4 I
-l ..

I 1 A

——

ANV B \N

W W
W W™

-1

/)
m—
Y/ /4

MIDDLE PANEL ASSEMBLY

PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 5

4 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2



PHOENIX BBQ MODULE PHOENIX BBQ MODULE

BBQ HEAT SHIELD ASSEMBLY FRONT AND SIDE PANELS ASSEMBLY

Assemble the front bar,
front beam, left and
right panels as shown.

Remove the hotplate,

?;:::::zf:n:i;fgsg_

LY \——
N T <
QO " ] N\~
N K N

‘.i = ° ) o o Q o ®

‘ o o o © oo © o ©

l J ° e ® (3] e S o o
[ b
5 ‘

Insert the Outer heat
shield panel to the left
side cavity of the BBQ.

Keep these bottom screws half
loosen and leave about 5mm gap.

Position the front, left, right and back heat

shield panels into the firebox as shown.

Then tighten the panels using the bolts

provided from Screw Pack B2.

Position the BBQ in
place and adjust the
feet height, so that it sits
flush with the top of the
rear top panel.

M5 bolts from
Screw Pack B2.

6 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 7



PHOENIX BBQ MODULE

PHOENIX BBQ MODULE

i

Align up the 4 bottom
screw holes then tighten
the bolts.

W
O
W

1
LY
T

\

8 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2

DOORS ASSEMBLY

Insert the pin on the
bottom of the door
into the hole on the
bottom panel. Press
then release the spring
loaded pin to let it pop
into the upper hole of

=
= = the door. Repeat the
= =
= process for the other
O door.
=
= =
= 2 =
=

CONNECTING MODULES

Secure the side
panels using the M5
bolts from the Screw
Pack B3.

<

B2 —F

PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 9



PHOENIX SIDE BURNER MODULE PHOENIX SIDE BURNER MODULE

SCREW PACK LIST CASTERS ASSEMBLY

Screw Packs Description Quantity M5 x 15 bolts, spring

washers, flat washers
@W M5 x 15 Bolt 16 from Screw Pack B1
B1 =S @5 Spring Washers 16
=) @5 Flat Washers 16
f M5 x 10 Bolt 40
B2
M5 Nutsert 6
Parts No. Description Quantity
1 Bottom panel 1
2 Casters without brake 2
3 Casters with brake 2
4 Left panel 1
5 Back panel 1
6 Right panel 1
7 Shelf 1
8 Front bar 1 M5 x 10 bolts from %
9 Top plates 2 Screw Pack B2 o
10 Rear top bar 1
11 Door 1

ot

10 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 11



PHOENIX SIDE BURNER MODULE PHOENIX SIDE BURNER MODULE

SHELF ASSEMBLY TOP PLATE ASSEMBLY

FRONT BEAM ASSEMBLY

— — B
» s
NN
SR || = =
S = =
N o 9
N} 44
SN 2
S = 9
N = Pr—— 9
VSIIE = d
@\ = y)
§ N . S A 4%
S '§ N Insert the pin on the bottom 7
S = = of the door into the hole on .
VN = = the bottom panel. Press then
release the spring loaded pin

@ to let it pop into the upper
hole of the door. - —
PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 13

12 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2



NOTES

PHOENIX SIDE BURNER MODULE

POSITION THE BBQ

B \N S\
W WW
N IR\V W\
AN A\ C R N
NS AN A\
N

CONNECTING MODULES

AN
AN
T

R\ AN,

. W WH )

W W

Y ww W )

Il

\ AN\
MW W\

AN
WK
AN\

W W)

Whes W\

I\ \ S \\\ W)

==
el ——
=

I

PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2 15

14 PHOENIX BBQ AND SIDE BURNER MODULES - GALAXY GEN2



WARNING

ACCESSIBLE PARTS OF THE TROLLEY COULD BE HOT DURING USE.

KEEP CHILDREN AND OTHERS WHO NEEDS SUPERVISION AT A SAFE DISTANCE.
DO NOT MOVE THE TROLLEY WHILE IN USE.

For any queries or assistance call

AUSTRALIA NEW ZEALAND
Customer Service For warranty details visit
1300 174 876 www.gasmate.co.nz
Hours of operation:
Monday to Friday 8am - 5pm EST

Do not return to place of purchase.
Keep your purchase receipt, this will be required to make any claims under the 1 year warranty.

Gasmate




